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— 4byte (short : 2byte, long : 4byte)
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=g XI=

— Zl(true, 1) EE= HZ(false, 0)

— &&(AND), II(OR), {(NOT)
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XIH(Natno) F4t X2

ADT Natno
object: {i | i € integer, i = 0}
function - for all x, y € Natno
zero() ::= return 0;
isZero(x) ::= if (x=0) then return true
else return false,
succ(x) ::= return x + 1;
add(x, y) ::=return x + v;
subtract(x, y) ::= if (x { y) then return O
else return x — v,
equal(x, y) ::=if (x = y) then return true
else return false;
End Natno



Z=3Hrecursion)

A A

Ok 11
__Oh .__q



nl2| A& (factorial)

—

VI

O]
=

>



Factorial =2lst

Factorial(n)
if (n {= 1) then return 1
else return (n - factorial(n—1));
end Factorial()

Factorial(4) = (4 - Factorial(3))
= (4 - (3 - Factorial(2)))
= (4 - (3 - (2 - Factorial(1))))
=(4-@3-(@2-1)
=(4-3-2)
=(4 - 6)
=24



n_Factorial(n)
if (n (= 1) then fact—1;
else for(#~2; i{=n; i— i+1) do
fact—fact®/ ;
return fact,
end n_Factorial()

Factorial(n)
if (n (= 1) then return 1
else return (n - factorial(n—1));
end Factorial()

231 H3)



Ad
1

L — |
O

(performance analysis)

S MEsH=0 TS AjZH} B2 53
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E

_ for (A=1; K=z #—#1) do for (=1, K=n; i—A1) do
x—x+1;

x—x+1; for (/=1; K=n; jf=p1) do
x<—x+1;

(a) (b) (c)



HLAZH 27|

CGHANA|ZE 27|
— Big—0Oh (0), Big—Omega (Q), Big—Theta (0)
Big—Oh (O)

f(n) = O(g(n))
f(n)=3n+ 2 : f(n) = O(n) (a=4, b=2)
fln)=6 « 2+ n2 :1{f(n)=0(2") (a=1001, b=100)
f(n) = 100 > f(n) = O(1)
f(n) = 1000n2 +100n — 6 : f(n) = O(n?)



65536
32768
16384
8192
4096
2048
1024
512

128

2n

nlog-n

log-n

| | | |
16 32 64 128
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